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Lesson 13

w Practice Drill 2 &
John 1:9-11
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SoTranslate John 1:9 into correct English (12 answers):



% Conjugate (7 answer s):

Present - Passive - Indicative Forms of o-contract verbs:

Person:  Singular Plural Infinitive:
1

2

3
= Answer the following questions from the block diagram (27 answers):

1. Identify the targeted groups in 1:9-11 by listing the statement(s) containing them (4 answers):

he Jews:

2. Write out the three expansions of the word ¢d@c in statement 15, then identify them as gram-
matical elements and explain how they impact the meaning of the word ¢odg (9 answers):

1)

2)

3)

3. The key word in statements 15-18 which links this section together is




4. Which of the statements asserts the incarnation of the Word?

5. Explain why the Gnostic opponents which the Gospdl is criticizing would object to statements 16 and
17

6. In statements 19 and 20, the Jewish nation is addressed as

7. Identify the statements reflecting each of the following divisions of an outline of these verses (10
answers):

|. Statements:
A. Statements:
1. Statements:
2. Statements;
B. Statements:
1. Statements:
2. Statements:
Il. Statements:
A. Statements:

B. Statements:
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